
MİKRODALGA 2   

GEREKLİ OLABİLECEK FORMÜLLER: 

[
𝐴 𝐵
𝐶 𝐷

] = [

𝑐𝑜𝑠ℎ𝛾𝑙 𝑍𝑐𝑠𝑖𝑛ℎ𝛾𝑙
1

𝑍𝑐
𝑠𝑖𝑛ℎ𝛾𝑙 𝑐𝑜𝑠ℎ𝛾𝑙

] 

𝛤𝑖𝑛 = 𝑆11+
𝑆12𝑆21Γ𝐿

1−𝑆22Γ𝐿
 

Γ𝑜𝑢𝑡 = 𝑆22+
𝑆12𝑆21Γ𝑆

1−Γ𝑆𝑆11
 

Γ𝑖𝑛 =
𝐴 +

𝐵
𝑍02

− 𝑍01𝐶 − 𝐷
𝑍01

𝑍02

𝐴 +
𝐵

𝑍02
+ 𝑍01𝐶 + 𝐷

𝑍01

𝑍02

 

𝑇21=
2

𝐴+
𝐵

𝑍02
+𝑍01𝐶+𝐷

𝑍01
𝑍02

 

𝑘 =
√

𝑍𝑜𝑒
𝑍𝑜𝑜

−√
𝑍𝑜𝑜
𝑍𝑜𝑒

√
𝑍𝑜𝑒
𝑍𝑜𝑜

+√
𝑍𝑜𝑜
𝑍𝑜𝑒

     

𝑘 =
𝜌 − 1

𝜌 + 1
  

 𝜌 =
1+𝑘

1−𝑘
 

𝐾 =
𝑗𝑘𝑠𝑖𝑛𝜃

√1 − 𝑘2𝑐𝑜𝑠𝜃 + 𝑗𝑠𝑖𝑛𝜃
=

𝑉3
−

𝑉1
+ 

𝐺 =
√1 − 𝑘2

√1 − 𝑘2𝑐𝑜𝑠𝜃 + 𝑗𝑠𝑖𝑛𝜃
=

𝑉4
−

𝑉1
+ 

 

𝐾2

𝐾2 + 𝐺2
 

 



𝑆11 =
𝐴 +

𝐵
𝑍0

− 𝑍0𝐶 − 𝐷

𝐴 +
𝐵
𝑍0

+ 𝑍0𝐶 + 𝐷
 

𝑆21 =
2

𝐴 +
𝐵
𝑍0

+ 𝑍0𝐶 + 𝐷
 

𝑍 = 𝑅 + 𝐽𝑋 

|Γ𝑜𝑢𝑡| = |
𝑆22 + 𝑆12𝑆21Γ𝑆

1 − 𝑆11Γ𝑆
| 

|Γ𝑖𝑛| = |
𝑆11 + 𝑆12𝑆21Γ𝐿

1 − Γ𝐿𝑆22
| 

𝐾 =
1 + |∆|2 − |𝑆11|2 − |𝑆22|2

2 − |𝑆12||𝑆21|
 

∆= 𝑆11𝑆22 − 𝑆12𝑆21 

𝐺𝑃 =
𝑃𝐿

𝑃𝐼𝑁
 

𝐺𝑇 =
𝑃𝐿

𝑃𝐴𝑉𝑆
 

𝐺𝐴 =
𝑃𝐴𝑉𝑁

𝑃𝐴𝑉𝑆
 

𝐺𝑇 =
|𝑆21|2(1 − |Γ𝑆|2)(1 − |Γ𝐿|2)

|(1 − Γ𝑆𝑆11)(1 − Γ𝐿𝑆22) − Γ𝑆Γ𝐿𝑆12𝑆21|2
 

𝐺𝑇 =
|𝑆21|2(1 − |Γ𝑆|2)(1 − |Γ𝐿|2)

|1 − 𝑆11Γ𝑆|2|1 − Γ𝑜𝑢𝑡Γ𝐿|2
 

𝐺𝑇 =
|𝑆21|2(1 − |Γ𝑆|2)(1 − |Γ𝐿|2)

|1 − Γ𝑖𝑛Γ𝑆|2|1 − 𝑆22Γ𝐿|2
 

𝑆11
′ = 𝑆22

′ = 0     ,   𝐺𝐴𝑚𝑎𝑘𝑠 =
|𝑆21|

|𝑆12|
(𝐾 − √𝐾2 − 1) 



𝐺𝐴 =
|𝑆21|2(1 − |Γ𝑆|2)

|1 − 𝑆11Γ𝑆|2|1 − |Γ𝑜𝑢𝑡|2|
 

𝐺𝑝 =
|𝑆21|2(1 − |Γ𝐿|2)

|1 − |Γ𝑖𝑛|2||1 − 𝑆22Γ𝐿|2
 

𝐺𝑇𝑈 =
1 − |Γ𝑆|2

|1 − 𝑆11Γ𝑆|2
|𝑆21|2 

1 − |Γ𝐿|2

|1 − 𝑆22Γ𝐿|2
 

𝐺𝑆 =
1 − |Γ𝑆|2

|1 − 𝑆11Γ𝑆|2
 

𝐺𝐿 =
1 − |Γ𝐿|2

|1 − 𝑆22Γ𝐿|2
 

𝐺𝑂 = |𝑆21|2  

𝐺𝑆𝑚𝑎𝑥 =
1

1 − |𝑆11|2
 

𝐺𝐿𝑚𝑎𝑥 =
1

1 − |𝑆22|2
 

𝐺𝑇𝑈𝑚𝑎𝑥 =
1

1 − |𝑆11|2
|𝑆21|2

1

1 − |𝑆22|2
 

 


